N
W\ N\

1:5 =[o}
500mm

0 250mm
NN A R N N AR A T S N A A A A A |

binzstrasse 7 , CH-8045 zurich , switzerland :: www.tribecraft.ch

© tribecraft ag ::

PC NO | PART NAME QTY

1 [Smartphone_holder | 1
2 Smartphone] 1
3 [Cable_USB (] 1
4 Wing Nut] 2
5 Hex Bolt M5x50] 2
6 Hex Nut M6 1
7 Hex Nut M5] 9
8 Wing Screw] 1
9 [Cylinder Head Screw M5x30 ] 3
10  |[Cylinder Head Screw M5x40 ] 2
11 |[Camera Screw 1/4"] 1
12 |[Smartphone Protection Box ] 1
13 |[Cylinder Head Screw M5x16 | 4
14 |[Quick Release ] 1
15  |[Tubeguideclamp right ] 1
16  |[Tubeguideclamp left ] 1
17  |[Tube Fastener] 1
18 |[Lidar Laser] 1
19 |lLasercase Right ] 1
20 |lLasercase Left] 1
21 |lLasercaseholder ] 1
22  |[Bmartphone Protection Box Holder ] 1
23 |[Rod Diameter 20-22] 1
24 |[Tubeholder Clamp ] 1
25  |[Tubeholder] 1
26 |[Spigot] 1
27 |[Tripod] 1
28 |[Heat shrink tube @8mm] 1
29 |[Heat shrink tube @13mm] 1

PART NAME | VERSION

Volaser_complete_setup 01

MATERIAL GENERAL TOLERANCES DRAWING | DATE

:lxji [?AIJ:ISO 2768-mK p0364-0011a-dil 06.01.2021

314 g PRODUCT NAME | USAGE

COLOR

VOLUME
1'922'000 mm?

Volaser

aquat

cawas...

Released for series production

DESIGNED BV‘ CHECKED

Tribecraft AG

AUTHOR ‘

T. Zimmermann A. Lenzi




